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Associative Property of Addition

S2

Daphne bought a bag of onions for

total amount of her purchase?

1) 52 + 7 + 63 = +52

=

2) 9 + 31 + 44 = +40

=

3) 33 + 17 + 8 = +50

=

4) 65 + 4 + 26 = 30+

=

5) 3 + 45 + 45 = 90+

=

6) 96 + 38 + 2 = +96

=

chocolates for

S9,S3,

S21.

a loaf of bread for and a pack of

How can Daphne use the associative property to calculate the

While organizing her closet, Mia found 16 pairs of shoes, 4 hats, and 2 scarves. How

can Mia apply the associative property to !nd the total number of items?

Find the sum using the associative property.
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